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FRRE 6.1. B f(z,y) =2+ oy +y? —x —y OEZ KD K.

R 6.2, B f(x,y) = (y — 2*) (2 + 2% — 2y) DESH
K ={(z,y)|2* <y <1+2%/2}
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LA~ NI 6.1, IROBIEUR S 2 S NI TR & 57008 5 i &
(1) e P(0,0) (2) 2* +y*+y* P(0,0)

(3) 22 +xy +4> P(0,0) (4) 2* +y* — 2® + 22y —*  P(1,-1)

LR— MRERE 6.2. (RO ORbEZ K X.

(1) 2’y +y* —y (2) 2* — 3zy + ¢

LR— NREIRE 6.3. RO f(x,y) DES K IZB W 2HAMMEERD &.

(1) flz,y) = (1 =21 —y*)(z+y) K ={(z,y)||z] <1, |yl <1}
2) flz,y) = (1 —2*—y*)(z—y) K ={(z,y)|2* +y> <1}
(3) flz,y) = (3 —a® —y?)e” K = {(z,y)|2* +y* < 3}
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